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Do you think we should decrease
our day-to-day levels of service to
reduce the average rate increase? :

No

Why / Why not?:

Increase the level of service, by managing better and
getting more value from the current budget. Employ
professional managers, not just people who have been
in council for decades

[If so, what should we do less of?:
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Do you agree with using $1.7
million from our forestry reserve to
pay for major roading repairs?:

Yes

Why / why not?:

THere should not be a forestry reserve, the councils
business is not in holding forestry but in providing
needed services for ratepayers.
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General comments:




